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1.

Who describe Kerala as a paradise of fools where everyone was happy in his
ignorance, in his superstition and his age long social bondage ?

A) Sahodaran Ayyappan B) Kumaranasan
C) Swami Vivekananda D) V. T. Bhattathiripad

Who forwarded the term Cold War in 1945 to mention the diverging interests of USA
and Soviet Union ?

A) Winston Churchill B) George Orwell
C) Vladimir Lenin D) George F. Kennady

Who suggested that the Congress was a product of Lord Dufferin’s brain ?
A) Lala Lajpat Rai B) Bal Gangadhar Tilak
C) Gopal Krishna Gokhale D) Dadabhai Naoroji

Which port in China was considered the only authorized port for international
exchange unit in the mid-19™ century ?

A) Shanghai B) Canton C) Shenzhen D) Hong Kong

What played leading role in India’s foreign policy, in the context of Cold War
confrontation ?

A) ASEAN B) SAARC C) NAM D) IORA

Which city is declared as the First City of Literature in India by UNESCO ?
A) Calcutta B) Bombay C) Kottayam D) Kozhikode

Which among the following atmospheric layers is the densest ?

A) Thermosphere B) Stratosphere  C) Troposphere D) lonosphere

Which among the following layers of the earth’s interior is solid ?
i. Outer core

ii. Inner core

iii. Upper mantle

iv. Lower mantle

A) iandiii B) iiand iv C) iiandiii D) iandii
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9.

10.

11.

12.

13.

The largest mangrove ecosystem in India, after the Sunderbans is
A) Bhitarkanika in Odisha

B) Vembanad in Kerala

C) Pichavaram in Tamil Nadu

D) Kaveri delta in Tamil Nadu

Central Institute for Horticulture is located at
A) Jammu and Kashmir B) Assam

C) Sikkim D) Nagaland

Identify the correct ascending sequence in terms of area under paddy cultivation in

Kerala from among the following.

A) Palakkad, Alappuzha, Thrissur, Kottayam
B) Alappuzha, Kottayam, Thrissur, Palakkad
C) Kottayam, Thrissur, Alappuzha, Palakkad
D) Thrissur, Kottayam, Alappuzha, Palakkad

Which State in India was most affected by the cyclone, Biparjoy ?

A) Gujarat B) Maharashtra  C) Goa D) Karnataka

Which of the following statement is/are correct about Indian Planning ?

i. Instead of Five Year Plan, there was a “Plan Holiday” and were only Annual Plans in
India during the period 1966-69.

ii. The Fifth Five Year Plan was terminated in its Fourth Year in 1978 due to change in

Government at the Centre.
iii. The Eighth Five Year Plan could not take off in 1990 and started only in 1992.
A) Onlyiandii B) Only ii and iii
C) All of the above i, ii and iii D) Only i and iii
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14. Which of the following statement is/are correct about NITI Aayog ?

15.

16.

17.

i. DMEO and NILERD are the two attached/autonomous bodies comes under NITI
Aayog.
ii. The President of India serves as the Ex-officio Chairperson of NITI Aayog.

iii. The main objective of NITI Aayog is to foster cooperative federalism and enhance
the involvement of States in policy making.

A) Only ii and iii B) Onlyiandii
C) All of the above i, ii and iii D) Only i and iii

Which of the following statements is/are correct about Green Revolution ?
i. Green Revolution has helped the country in attaining self sufficiency in food grains.

ii. High yielding variety seeds were one of the most important component of Green
Revolution.

iii. Gregor Mendel is considered as the “Father of Green Revolution”.
A) Only ii and iii B) Onlyiandii
C) All of the above i, ii and iii D) Only i and iii

Which of the following statement is/are correct about GST ?
i. Integrated GST (IGST) is applicable to exports and imports in India.

ii. In the GST system Input Tax Credit can be availed for purchases of goods and
services used for business purposes.

iii. GST was implemented in India in the year 2017.
A) Only ii and iii B) Onlyiand ii
C) All of the above i, ii and iii D) Only i and iii

Which of the following statement is/are correct ?

i. The first phase of the Pradhan Mantri Jan Dhan Yojana aimed to provide access to
banking facilities to all households in India.

ii. Securities and Exchange Board of India (SEBI) issues and regulates the guidelines
for the Know Your Customer (KYC) norms in India.

iii. EXIM Bank provides financial assistance to promote foreign trade of India.
A) Onlyiand ii B) Only ii and iii
C) All of the above i, ii and iii D) Only i and iii
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18.

19.

20.

Which of the following statement is/are correct about merger of Public Sector Banks
in 2021 ?

i. The above mentioned merger has not affected Indian Overseas Bank, UCO Bank,
Punjab and Sind Bank and Bank of Maharashtra.

ii. Andhra Bank and Corporation Bank merged with Canara Bank in 2021.

iii. The merger of Dena Bank and Vijaya Bank with Bank of Baroda was a part of this
merger process in 2021.

A) Only i B) Only i
C) Only i and iii D) Only i and iii

Which one of the following statements are correct as per the Constitution of India ?

Every Judge of a High Court shall be appointed by the President by warrant under
his hand and seal after :

i. Consultation with the Chief Justice of India.

ii. Consultation with the Governor of the State concerned.
iii. Consultation with the Chief Justice of the State concerned.
iv. Consultation with the Chief Minister of the State concerned.
A) Onlyiand ii B) Only i and iii
C) Only ii and iv D) Only i, ii and iii

Consider the following statements.
Statement 1 :

No discussion shall take place in the Legislature of a State with respect to the
conduct of any Judge of the Supreme Court or of a High Court in the discharge of
his duties.

Statement 2 :

The validity of any proceedings in the Legislature of a State shall not be called
in question before the Courts on the ground of any alleged irregularity of the
procedure.

Which of the statements given above is/are correct ?

A) 1 only B) 2 only

C) Both 1 and 2 D) Neither 1 nor 2
-8-
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21.

22.

23.

24.

Which of the following objectives are not embodied in the Preamble to the
Constitution of India ?

1.
2.
3.
A)
C)

Unity of the Nation

Secede from the Union

Integrity of the Nation

1 only B) 2 only

3 only D) None of the above

Which of the following Amendment made the Right to Education a Fundamental Right ?

A)
B)
C)
D)

44" Constitutional Amendment Act
86" Constitutional Amendment Act
96" Constitutional Amendment Act
102" Constitutional Amendment Act

Which of the following statements are correct about the Emergency provisions of
the Constitution of India ?

A)
C)

If the President is satisfied that a grave emergency situation exists whereby the security
of India or of any part of the territory thereof is threatened, make a declaration to that
effect.

. The President shall not issue such a proclamation unless the decision of the Union

Cabinet that such a proclamation may be issued has been communicated to him in
writing.

Every emergency proclamation issued by the President under Article 352 shall be
laid before each House of Parliament and shall cease to operate at the expiration
of six months unless before the expiration of that period it has been approved by
resolutions of both Houses of Parliament.

Only i and i B) Only ii and iii
Only i and iii D) All the above

Which of the following statement(s) is/are not correct about the Constituent Assembly
of India ?

C)

Dr. Sachidananda Sinha was appointed as the temporary Chairman of the Constituent
Assembly on December 9, 1946.

. Jawaharlal Nehru moved the Objective Resolution in the Constituent Assembly on

December 11, 1946.

iii. On 29 August 1947, the Constituent Assembly had set up a Drafting Committee under

the Chairmanship of Dr. B. R. Ambedkar.
Only i and i B) Only ii and iii
Only ii D) Only iii

-10-
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25. Which one of the following subjects come under the Concurrent List in the Seventh

26.

27.

28.

Schedule of the Constitution of India ?
i. Fisheries
ii. Tolls
iii. Electricity
iv. Public health
A) Onlyiand ii B) Only ii
C) Only iii D) Only iii and iv

Which of the following statements are correct about the Constitution of India ?
i. Relations between the Union and the States are given in Part XI of the Constitution.

ii. Provisions related to services under the Union and the States are given in Part XIV
of the Constitution.

iii. Special Provisions relating to certain classes are given in Part XVI of the Constitution.
A) Onlyiandii B) Only ii and iii
C) Onlyiand iii D) All the above i, ii and iii

Which of the following statements are correct about the composition of the Kerala
State Human Rights Commission ?

i. Chairperson of the Commission should be a person who has been a Chief Justice or
a Judge of a High Court.

ii. One member should be a person who is or has been a Judge of a High Court, or a
District Judge in the State with a minimum of seven years experience as District Judge.

iii. The Governor of Kerala has appointed the first Human Rights Commission consisting
of Justice J. B. Koshy as Chairperson and Dr. S. Balaraman and Shri T. K. Wilson
as Members in 1998.

A) iandiionly B) iand iii only
C) ii and iii only D) All the above i, ii and iii

Under which Article of the Constitution of India the Supreme Court declared the Right
to Information as Fundamental Right ?

A) Article 19 (1) (a) B) Article 19 (1) (b)
C) Article 19 (1) (c) D) Article 19 (1) (d)
-12-
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29.

30.

31.

Which among the following is/are the Scheme(s) implemented by the Government
of Kerala for the welfare of women ?

i. Abhayakiranam

ii. Padavukal

iii. Snehasparsham

iv. Aswasanidhi

A) Onlyiand ii B) Only ii and iii

C) Onlyiandiv D) All the above i, ii, iii and iv

Which of the following statements are correct about the introduction of decentralization
in Kerala ?

i. E. M. S. Namboodiripad chaired the Administrative Reforms Committee in 1957 for
the newly formed State of Kerala.

ii. K. Sasidharan Nair Commission was constituted in 1996 to study and recommend
changes to strengthen local governance in Kerala.

iii. “People’s Plan Campaign” was introduced on August 17, 1996 with the objective of
strengthening LSGs in the State.

A) Onlyiandii B) Only ii and iii
C) Only i andiii D) All the above i, ii and iii

What were the major recommendations of the Narendran Commission appointed
by the Government of Kerala in February 2000 ?

i. Implementation of special recruitment campaigns to remove backlogs and ensure
equal rights for all sections of society.

ii. Introduction of 10% reservation for Economically Weaker Sections (EWS) in
educational institutions and government jobs.

iii. Ensure that reservations are implemented effectively to achieve representation of
Backward Classes in proportion to their population.

A) Onlyiandii B) Only ii and iii
C) Only i and iii D) All the above i, ii and iii
-14-
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32.

33.

34.

35.

36.

37.

38.

Name the project launched by the Kerala Drugs Control Department to prevent
environmental pollution and health risks by following Biochemical Waste
Management protocols ?

A) KSUDP B) nPROUD C) TRINETRA D) KaWaCHaM

In order to perceive a sensation, the following conditions are necessary, with the

exception of
A) Stimulus strong enough to initiate a response
B) A receptor to convert the stimulus to an impulse
C) Interpretation of the impulse in the brain

)

D) A motor impulse to an effector organ or muscle

All fragments of rock ejected into the air by an erupting volcano is termed as

A) Lahar B) Pumice C) Tephra D) Lava

The infectious disease Chicken Pox is also called

A) Variola B) Vaccinia C) Varicella D) Myxovirus

A condition in which the liver becomes infused with fibrous tissue and is unable to
repair itself is known as

A) Hepatitis B) Cirrhosis C) Jaundice D) Hepatoma

The mission in Kerala launched with the objective to transform the public health
sector in the backdrop of the Sustainable Development Goals (SDGs) 2030 of the
United Nations (UN) is

A) Aardram B) Aarogyakeralam
C) NCD D) RBSK

Each side of a square is measured to be 1.1 m. What is the area of the square in
appropriate significant figures ?

A) 1.0 m? B) 1.21 m? C) 1.2m? D) 1.210 m?

-16-



32.

33.

34.

35.

36.

37.

38.

83/25 - K

0T TOAIOIT TW, ABF BT DLTIWTTNTRY, WIVHOAT [WRYT TOFT BRI, =08
STREN, STICVNFRY, SR LD FeTY WRF LOI0E, 0 QepaIoddd 39,0 CIReRIOIT)
%N o))

A) KSUDP B) nPROUD C) TRINETRA D) KaWaCHaM

0TI 7,830, 83 FINT TORENH BTJ T, QNS TRTBTRA
A) ,88,030030, T3, TORRLD TTR, WTITI T, 20T

B) u8pems0dm) ©08sE, ¢0RE0dnN BOBSFALD 19,38

C) STV 085, eTFBOD 29,357, T

D

(&

)
)
)
) TOFEITOTDO LON Lem0 A QI VT 08, €T

AR AT B TDTNDA0T MY, BATHITL BT LOTOL L, BEVTINTTIY
8o eTI0T0 FTCLUINIZT
A) ozT* B) @po0x C) &, D) oome

RDOT, 008 TREM WIT* 05 5T, Leriotse FT0I0TT
A) Seocdeeed B) 9,803 C) Seode, D) 230307

03T B O LOTOBLIOT B0 BFI, ToSe FOTRABERY O TN 1T Soerimy T30
& wx

A]
A) &3

B) adeexxf C) wooex® D) IJedeezmm

237D (UN) 73,3 ©33,0) Oonsd (SDGs) 20303 &3 G030 AT RIT STREN, BOOITZY
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39. Choose the correct statement(s) :
i. Newton’s laws are directly applicable only in inertial frames.
ii. Newton’s laws are directly applicable only in non-inertial frames.
iii. A bus moving with constant velocity is an example of a non-inertial frame.

iv. A bus moving with constant speed in circular path is an example of a non-inertial

frame.
A) Only iis correct B) i and iv are correct
C) ii and iii are correct D) ii and iv are correct

40. Zeroth law of thermodynamics refers to

A) Conservation of energy

B) Change in entropy during reversible process
C) Increase in entropy in irreversible process
)

D) Thermal equilibrium

41. The United Nations proclaims 2025 as

A) International Year of Quantum Science and Technology

)
B) International Year of Basic Sciences for Sustainable Development
C) International Year of Light
D) International Year of Astronomy

42. Graphene, an allotrope of carbon is a
A) One dimensional (1D) material B) Two dimensional (2D) material

C) Three dimensional (3D) material D) Zero dimensional (OD) material

43. Arrange the following ions in the order of increasing size.
AI3+, Mgz+, F N
A) AP > Mg* > F > N*> B) N* > AP > F > Mg**
C) N> >F > Mg* > Al** D) F > Mg** > AP*> N*
A 18-
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AP*, Mg?*, F~, N>
A) AP > Mg® > F > N>~ B) N* > AP > F > Mg**
C) N> >F > Mg* > A** D) F~ > Mg? > AI**> N*~
A 19-



83/25 - K

44.

45.

46.

47.

48.

49.

50.

51.

Which one of the following alkaloid is present in Tobacco plants ?
A) Nicotine B) Cocaine

C) Piperine D) Atropine

2023 Nobel Prize in Chemistry was awarded for

A) The discovery and synthesis of quantum dots

B) The development of click chemistry and bio-orthogonal chemistry
C) The development of asymmetric organocatalysis
)

D) The development of lithium ion batteries

Name the youth player who won the Candidate Chess Tournament in April 2024.
A) R. Praggnanandhaa B) Vidit Gujrathi
C) D. Gukesh D) Fabiano Caruana

With which ritual art in Kerala is “Muchilot Bhagavathi” associated ?
A) Theyyam B) Mudiyettu
C) Patayani D) Paana

What is the name of the famous Bharatanatyam artiste who is the Chancellor of
“Kerala Kalamandalam” ?

A) Padma Subrahmanyam B) Mallika Sarabai
C) Neena Kurup D) Methil Devika

What is the name of the movie that won Salim Kumar the “National Award for the
Best Actor” in the year 2010 ?

A) Android Kunjappan B) Achanurangatha Veedu
C) Karutha Joothan D) Adaminte Makan Abu

In which sport is Pankaj Advani a World Champion ?
A) Football B) Cricket
C) Billiards D) Javelin throw

The remainder obtained when — 5 is divided by 4 is
A) —1 B) 1 C) 3 D) -3
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52.

53.

54.

55.

56.

57.

58.

59.

60.

What percentage of three metric tonnes in sixty quintals ?
A) 100% B) 150% C) 250% D) 200%

The fourth proportional to 5, 8, 15 is
A) 20 B) 24 C) 30 D) 36

3
A and B can do a job together in 7 days. Ais 12 times efficient as B. Same job can
be done by A alone is

A) 11 days B) 9 days

1 1
C) 12— days D) 16— days
) 2 y ) 5 day

A is 20 meter west of B, C is 30 meter north of B, D is 10 meter east of C. Then
distance from Ato D is

A) 10 m B) 20v2m
C) 30v2m D) 10v2m

Average of reciprocal of x and y is
X+y Xy 2xy D) X+y

A) Xy B) X+y ) XTy 2%y

Mr. X facing East. He turns 110° in the clockwise direction and then he turns 155°
in the anticlockwise direction. Which direction is he facing now ?

A) East B) North C) North-East D) South-West

f 30— 10 =300, 7 + 4 =11 and 9 x 3 = 6, then 50 — 20 x 100 = 10 is
A) 910 B) 1000 C) 900 D) 1010

If SUMMER is coded as RUNNER, then WINTER is coded as
A) SUITER B) VIOUER C) SUFFER D) WALKER

By looking a mirror, it appears quarter to eight, what is the actual time ?

A) 4.15 B) 3.15 C) 4.45 D) 3.45
-22-
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61. Fill in the blanks with suitable article.
university in which she is studying is one of the best universities in the world.
A) the B) a C) an D) no article

62. Find out the correct answer from the following sentences.
A) One of the student in the class scores full marks.
B) One of the students in the class scores full marks.
C) One of the students in the class score full marks.
D) One of the student in the class score full marks.

63. Choose the correct question tag from the following.
A) No one has attended the meeting, hasn’t they ?
B) Let’s go for a film, shouldn’t we ?
C) Get out, will you ?
D) She seldom attended the meeting, didn’t she ?

64. Which is the correct passive voice of the sentence Ram is eating a mango ?
A) A mango is eaten by Ram B) A mango was eaten by Ram
C) A mango is being eaten by Ram D) A mango was being eaten by Ram

65. Fill in the blanks with correct phrasal verb of the word given in the bracket.

The meeting was (cancelled) because of some personal issues of the

manager.

A) Called off B) Called out C) Called up D) Called on
66. Choose the correct antonym of the word ‘luminous’.

A) Shiny B) Dark C) Diminish D) Retract
67. Choose the word with correct spelling.

A) Seperate B) Tortioise C) Collage D) Plaigiarism
68. Fill in the blanks with suitable modal verb.

Policemen wear Khaki.

A) will B) can C) shall D) must
69. Fill in the blanks with suitable idiom from the following.

The announcer announces that it is time to the programme.

A) wrap up B) take sides

C) get cold feet D) butter someone up
70. Fill in the blanks using correct preposition.

The boutique is situated the city centre.

A) on B) by C) for D) at
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91.

92.

93.

94.

95.

96.

If a computer has 64KB wordlength then its memory unit has how many memory
locations ?

A) 64000 B) 64524
C) 65536 D) 66176

Identify the commonly used Magnetic Ink Character Recognition (MICR) fonts from
the list below.

i. CMC-7

ii. Helvetica

ii. E-13B

iv. Code 39

A) iandiii only B) ii only

C) ivonly D) ii and iv only

The EBCDIC can represent up to how many different characters ?
A) 16 B) 256
C) 128 D) 32

Which of the following printer uses a physical impact while printing on paper ?
A) Inkjet Printer B) Laser Printer

C) Dot matrix Printer D) Thermal Printer

What is the octal equivalent of 255 ?
A) (377)g B) (367),
C) (777)g D) (677)

What is the use of shortcut key Ctrl+Shift+ > in MS-Word ?
A) Increase font size

B) Applies subscript formatting

C) Decrease font size
)

D) Applies superscript formatting
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97. Which among the following views in MS-PowerPoint are used for organizing and

rearranging slides ?
i. Normal View
ii. Slide Sorter View
iii. Reading View
iv. Slide Master View
A) Only iv B) Onlyiand ii
C) Only i and iii D) Only ii and iv

98. Which of the following function in MS-Excel is used to count cells in a range that

meets specific criteria ?
A) COUNTA B) COUNT
C) COUNTBLANK D) COUNTIF

99. Which tab in MS-Word 2010 allows you to format text into multiple columns ?
A) Home B) Page Layout

C) Review D) Insert

100. Filter in MS-Excel is used for
i. Calculating formulas
ii. Extracting data that meets the defined criteria
iii. Sorting data in ascending/descending order
iv. Analyzing and managing relevant data
A) Only i B) Only iii
C) Onlyii and iv D) Only i andiii
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